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2012
Time : 3 hours
Full Marks : 80

Candidates are required to give their answers in

their own words as far as practicable.
The figures in the margin indicate full marks.

Answer from both the Group as directed.

Group — A

Answer any four questions : 15x4 =60

1. Whatis the importance of information technology

in present scenario of Globalization ?

2. What do you understand by Cyber Market ?

Discuss.

3. What do you understand by volatile memory ?
What is the diference between volatile and non-

volatile memories ?
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4. Differentiate between Software and Hardware.
5. Describe the generation of Computer Language.

6. Whatis the role of Computer in Massmedia and
Journalism ?

7. Describe about the different components of
Computer.

8. Write short notes on any three the following

(@) MS-Dos

(b) MS-Windows

(c) Recycle bin

(d) CD-ROM

(e) E-mail

(f) Software

(9) Hardware

Group -B

Answer all questions.

9. Select the correct answer of the following
2x10=20

(@) MSWindows is an example of :
(i) System Software
(i) Application Software
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(iii) DTP Software
(iv) None ofthese
(b) Whatis Google ?
() ’Sea;'ch Engine
(i) ‘World Wide Web
(ili) Both of the above
(iv) None of the above
(c) GPS stands for:
(i) Global Posting System
(if) Global Positioning System
(iif) Global Politicizing System
(iv) None of the above
(d) Whatis a Search Engine ?
(i) Computer destination
(i) Rescue operation
(i) Railways
(iv) None of the above
(e) DOS stands for :
(i) Disk Operating System
(i) Disk Organising System
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(h)

(i)

(iii) Disk Outsourcing System

(iv) None of the above
E-Mail is :

(i) Economicterm
(i) Computerterm
(iii) Postalterm

(iv) None of the above
Which is odd ?

(i) Yahoo

(i) g-mail

(iii) Rediff

(iv) e-mail

Which is odd ?

(i) MB

(i) GB

(iii) TB

(iv) None of the above
Which is odd ?

(i) Mouse

(i) UPS
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7 (i) CPU
(iv) Scanner
() Microsoftisa:
(i) Company
(i) Programme
(iii) Both ofthe above

(iv) None of the above
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